Laampron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mopenb: DHP40E

19

Ne ApTUKYA HaumeHoBaHue K-Bo Ne ApTURYN HaumeHoBaHue K-Bo
1 40HSBZ-01001 Kopnyc nomnbl cTOpoHa ABuratens 1 15 40HSBZ-01015 Mpobka cavBHasn 1
2 40HSBZ-01100 CanbHUK KpblnbYaTKn 1 16 40HSBZ-01016 Bont M8x30 8
3 40HSBZ-01013 LWaiba 8 4 17 40HSBZ-01017 laiika M8 8
4 GB/T5789-1986 Bont M8x35 4 18 40HSBZ-01006 Mpoknaaka BbiIxogHoro dnaHua 1
5 GBT3452H-1992 Konbuo ynnoTHUTENbHOE Kopnyca 1 19 40HSBZ-01025 [lepKaTtenb 3arnywKku 3
nomnbl 230x3.55
6 40HSBZ-01004 KpbinbyaTka nomnbl 1 20 40HSBZ-01024 3arnyLwka Bbixoga 1" 2
7 40HSBZ-010031 Konbuo ynnotHutensHoe 1 21 40HSBZ-01008 KonbLo ynnotHUTenbHoe 3arnylku 1" 2
KObINbYATKK
8 40HSBZ-01003 Kopnyc KpblnbyaTku 1 22 40HSBZ-01005 dnaHeL, BbIXOAHOW 1
9 40HSBZ-010032 KonbLo ynnoTHUTEIbHOE Kopnyca 1 23 GBT5789-1986 Bont M8x55 4
KpPbINbYaTKK
10 9902051 Bont M5x8 1 24 40HSBZ-01021 KonbLo ynnoTHUTENbHOE NPO6KU 1
11 9903052 LWai6a 8 1 25 40HSBZ-01022 Mpo6Ka 3aAMBHOM FOPNOBUHDI 1
12 40HSBZ-01200 KnanaH o6patHbIit 1 26 40HSBZ-01026 KonbLo ynnoTHUTENbHOE 3arnywkn 1,5" 1
13 40HSBZ-01002 Kopnyc nomnbl cTopoHa dpiaHua 1 27 40HSBZ-01027 3arnyweka sbixoga 1,5" 1
14 40HSBZ-01014 Konbuo ynaoTHUTENbHOE NPO6KK 1 28 40HSBZ-01028 ®dunbTp BCacbiBatoWMin 1




